Find the nearest ten.

4. Estimate the difference of 72 — 59.
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An estimate of the difference is

.................................................................................................................................

Find the nearest hundred.

5. Estimate the difference of 792 and 6 19.

.................................................................................................................................

6. Which of the following numbers will make this true?

350< 413 <

O 403
O 398
O 430

O 33l

P274 twohundred seventy-four
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